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QUESTION 1

What does the Paste button in this dialog box do?
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Dependent List: Ciptions...
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| oK [ Paste J| Reset H Cancel H Help ]

A. Runs a MEANS table.

B. Pastes the MEANS command into a Syntax Editor window.

C. Pastes the MEANS command intothe Viewer window.

D. Runs a MEANS table, opens a new Syntax Editor window, and pastes the MEANS command

Correct Answer: B

QUESTION 2

Which chart type is appropriate for viewing the association between two scale variables?
A. Bar chart

B. Area chart

C. Pie chart

D. Scatter plot

Correct Answer: D
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QUESTION 3

There are two major types of errors one can make when attempting to draw conclusions about the larger population
based on the information collected in the sample. For example, when performing an Independent Samples T-Test, one
type of error that can occur is when there are significant differences between the groups based on a scale level
dependent variable, but the test fails to detect them. Which of the following choices describe this sort of error? (Choose
two.)

A. Type i error

B. Type ii error

C. False negative

D. False positive

Correct Answer: BC

QUESTION 4

A paired samples t4est is different from an independentt-test because it:
A. Assesses each person twice.

B. Compares groups on correlations.

C. Compares groups on means.

D. Compares groups on variances.

Correct Answer: A

QUESTION 5
You have been asked to create a categorical variable from a scale variable, income, illustrated in the histogram below.

The resulting categorical variable must have 5 categories with an approximately equal number of cases in each
category. Which way would you accomplish this using the IBM SPSS Statistics Visual Binning dialog?
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Respondent's income
A. Use the automatic option Equal Width Intervals
B. Use the automatic option Equal Percentiles Based on Scanned Cases
C. Use the automatic option Outpoints at Mean and Selected Standard Deviations Based on Scanned Cases
D. Specify Cut points manually at 10000, 20000, 30000, 40000 and 50000.

Correct Answer: B
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